
Swingarm and Caster with Hardware - Invacare 400



Swingarm and Caster with Hardware - Invacare 400
Item

Number Part Number DescriptionNote
Quantity Per

Package Assembly
1124906-NLA NLA - Frame, Swingarm Assembly (Invacare 400

Scooter)
1 11 A

NLA - Pin, Cotter (1/8 x 1-1/4") 1 22
NLA - Washer, Steel (29/32 x 1-3/8 x 1/8") 1 23
NLA - Washer, Shoulder 1 44
NLA - Tube, Pivot, Black 1 15
Tip, Plastic, Black 1 16
Tie Wrap (5-5/8" L) 1 27
NLA - Rod, Release Brake 1 18
Washer (1/4 x 1/2 x 1/16") 1 29
NLA - Pin, Cotter (5/64 x 1/2") 1 110
Screw, Hex Head (1/4-20 x 5/8") 1 211
NLA - Locknut (1/4-20) 1 212
NLA - Bracket, Extension Brake, Black 1 113
NLA - Element, Viscous 1 214
NLA - Caster, Swivel (5-1/2") (Invacare 400
Scooter)

1 217
NLA - Cap, Hub, Black 1 218
NLA - Nut, Keps (5/16-18) 1 219
NLA - Washer, Caplugs (11/32" I.D. x 1" O.D.) 1 220
NLA - Bumper, Rubber (1" Diameter x 5/8") 1 221
Decal, Warning Pinch Point 1 223
NLA - Rivet (1/8 x 1") 1 224
NLA - Plate, Nylon 1 125
NLA - Frame, Swingarm, Black - Left 1 126
NLA - Frame, Swingarm, Black - Right 1 122

1122050-NLA NLA - Swingarm with Caster - Left (Invacare 400
Scooter)

1 116 B,C
NLA - Caster, Swivel (5-1/2") (Invacare 400
Scooter)

1 217
NLA - Cap, Hub, Black 1 218
NLA - Nut, Keps (5/16-18) 1 219
NLA - Washer, Caplugs (11/32" I.D. x 1" O.D.) 1 220
NLA - Bumper, Rubber (1" Diameter x 5/8") 1 221
Decal, Warning Pinch Point 1 223
NLA - Frame, Swingarm, Black - Left 1 126

1122049-NLA NLA - Swingarm with Caster - Right (Invacare 400
Scooter)

1 115 B,D
NLA - Caster, Swivel (5-1/2") (Invacare 400
Scooter)

1 217
NLA - Cap, Hub, Black 1 218
NLA - Nut, Keps (5/16-18) 1 219
NLA - Washer, Caplugs (11/32" I.D. x 1" O.D.) 1 220
NLA - Bumper, Rubber (1" Diameter x 5/8") 1 221
NLA - Frame, Swingarm, Black - Right 1 122
Decal, Warning Pinch Point 1 223



Swingarm and Caster with Hardware - Invacare 400
A - Includes:  Items 2-26; Assembly Includes both Right and Left sides.  
B - The Swingarm assembly includes the caster.  
C - Includes:  Items 17-21 & 23-26.  
D - Includes:  Items 17-23.  

NOTE:

 


